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QUESTION 1
Which SAFe Core Competency incorporates guidance on coordinating trains and suppli-ers?

A. Enterprise Solution Delivery
B. Business Agility

C. Measure and Grow

D. Lean Portfolio Management
Answer: A

QUESTION 2

How are the 5 Whys used?

To coach a team through powerful questions
To brainstorm ideas

To define acceptance criteria for a Story

To identify a root cause(s) of a problem
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Answer: D

QUESTION 3

Program Increment (PI) Planning is a major event that requires preparation, coordina-tion, and
communication. What are two key areas a Release Train Engineer should focus on to support a
successful Pl Planning event? (Choose two.)

A. Organizational readiness - Strategic alignment; roles, teams, and train setup
B. Architectural readiness - Defining the Architectural Runway
C

Operational readiness - Facilitating Pl events such as scrum of scrums, Iteration Planning, and
System emo

D. Facilities readiness - Space and logistics for the event
E. Process readiness - The operational rhythm that enables SAFe governance

Answer: AD

QUESTION 4
During which part of an Inspect and Adapt event would differences between planned business
value and actual business value be presented?

Retrospective

Problem-solving workshop

Quantitative and qualitative measurement
Pl system demo
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Answer: C

QUESTION 5
Becoming a coach requires a shift from old behaviors to new ones. What are three ex-amples of
new coaching behaviors? (Choose three.)
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Facilitate team problem-solving
Focus on business value delivery
Drive toward specific outcomes
Fix problems for the team

Ask the team for the answer
Focus on deadlines
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Answer: ABE

QUESTION 6

Product Management wants to prioritize a list of Features likely to be planned in the up-coming
Program Increment (PI) meeting. What should Product Management use as the denominator of
the weighted shortest job first calculation?

The T-shirt sizes for each of the Features
The actual business value of each Feature
Feature size expressed in story points

Job size based on relative estimation
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Answer: D

QUESTION 7
Which statement is true about the SAFe backlog model?

A. Capabilities are in the Program Backlog
B. Features are in the Program Backlog
C. Stories are in the Solution Backlog

Answer: C

QUESTION 8
What promotes alignment between the business owners and product management?

Quantification of transaction and holding costs
Epics supported by Lean Business Cases
Prioritized Program Backlog

Applying cadence and synchronization
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Answer: C

QUESTION 9
Which statement describes the three elements that the Innovation and Planning Iteration
provides?

A. Releasing, Continuous Integration, and planning

B. Innovation, planning, and an estimating guard band

C. lteration Planning, User Story refinement and estimating
D. Estimating techniques, training, and innovation
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Answer: B

QUESTION 10
What is a primary responsibility of Business Owners in Program Increment (Pl) Planning?

A. To establish the Pl budget
B. To set the business context
C. To ensure that team members plan all of their priorities

Answer: B

QUESTION 11
What does transparency mean in a scrum environment?

Development and Operations teams work together

The process is visible to all stakeholders

The team is constantly improving its process

Team members must immediately share any and all feedback with each other
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Answer: B

QUESTION 12
What is ultimately intended to be supported by the use of a Program board?

A. Problem solving

B. Program predictability
C. Feature delivery

D. Dependency review
Answer: C

QUESTION 13

Which statement is true about using a Program Kanban system

All work is visualized, progress is continually tracked

WIP limits are used to provide any needed buffers

Work is pushed through the Kanban to ensure train capacity is utilized
The board tracks features, dependencies and milestones
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Answer: C

QUESTION 14
What is the best way for the Release Train Engineer to show progress of work in the cur-rent
Program Increment (PI) to management?

A. Conduct a System Demo
B. Generate a velocity trend report
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C. Conduct a retrospective
D. Arrange for a separate meeting with Business Owners

Answer: A

QUESTION 15
Which of the following is true of Iteration Goals in SAFe?

A. They provide KPIs for tracking progress and value realization
B. They enable teams to keep aligned with Pl objectives

C. They describe the value of planned Features and Enablers
D. They provide quantifiable metrics to be used in retrospectives

Answer: B

QUESTION 16
Iteration Goals serve what purpose?

A. To align team members to a common purpose
B. To define the what, the how, and the how much
C. To set preliminary Pl Objectives

Answer: A

QUESTION 17
Which statement is true about the definition of done (DoD)?

A. The DoD is not used by the teams because it is used as a method to manage tech-nical debt
across the ART

B. Atthe higher levels there is only one DoD for everything that passes through the Agile Release
Train to a Solution increment or a release

C. The teams share one common DoD
D. The DoD should evolve as system capabilities evolve

Answer: D

QUESTION 18
In systems thinking, value of a system passes through its what?

A. Integrations
B. Interactions
C. Interdependencies
D. Interconnections

Answer: D
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